y f(xy) [a.b]
F(x) [ab] X
f(xy) F(x)
2 G(x):é((:))f(x,y)dy
G(x)
a(x) b(x)
81
f(x y) y
[a.b] @(¥).b(x)g
D =[ab] [a,b]
1

1 f(xy)i c(D) 1(x,y) :ny (xt)dtT (D)

1 (x,y)- I(xo,yo)|:‘df(x,t)dt- o f(xo,t)dt‘

s‘(j‘) & (x.0) - T (x,.t)pclt

+

g f(x t)dt‘

f(x,y)l C(D) D f(xy) D

"e>0 $d,>0  |x-x|<d; |y- y<d,
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| (xy)- f(%.%)[<e/2(b-a)
_ b € _
d—mln%dl,mg M—(m%|f(x,y)|
[x-x|<d y- yo<d
e e e
|I(x,y)- '(&,YO)|<m|)6‘a|+M|y- y°|<§+MW:e

I(x,y)T C(D)

1

f(xy)1 c(d)  F(x)=q f(xy)ayl Clab]

limQy f (xy)dy=g f(%.y)dy=q limf (xy)d
limq f(xy)dy=q f(%:y)dy=Qq lim f(x y)dy

2 f(xy)1c(d) j(x)y (x)1 Cla,b]
xI [a,b] afj(x)y (x)Eb

G(x)= é((x? f (x y)dyl C[a,b]

6(x) =" (xy)dy- @ F (xy)ay=1(xy (x))- 1(xi (¥)
G(x)1 C[a,b]

f(x,y),f,(xy)T C(D) F(x):(S f(x y)dyl C?¥[ab]
S40= 8 10y

w

o f(x+Dxy)- f(xVy)
Dx Q Dx

= f(x+aDxy)dy  (0<q<1)
f.(xy)l C(D)
lim £, (x+aDx, y)dy = ) f,(x y)dy
F(x)= Q) T, (% y)dy

dy
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f.(xy)T C(D) FYx)T Cla,b]

F(x)T c¥[a,b]

4 f(xy).f,(xy)ic(D) j(xy(x) [ab
xT [a,b] a£j(x)y (x)£b
G(x)=é((x)) f(xy)dy [ab]

GYx) =, (% y)ay+ f (xy () qx)- T (xi (x))4 qx)

F(uvx)= Qf(x y)dy  G(X)=F(y (x).j (x),x)

TF du ﬂF dv ﬂF

A T TR
= f(xy (x)y €x)- f(xi ())’1¢()+ f(XV)dy
1 F(x):szsmglxy)d Fqx)
4
-y ) e
_ szcos(xy)dy+28m(xs)); sm(x )
_sin xy)IXz+25|n(x3)-sm(x2) 35|n( ) Zsm( )
2 I(q):(‘gln(1+qcosx)dx la| <1
la|£1-d <1 3 1(q)
COSX ‘a‘:;:t - 2(1- t2)
)= Ql+qusde - Q (1+t2)(1+q +(1—q)t2)OIt
2 ~€ 1 1

z udt

39 Soe g +(1-a)r s
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=pin(1++1-a7 || =pin(1+4-q7)-pin2

0

u(x)= 5005(“1 - xsing )dq u(x) XU+ xu(1:+(x2 - nz)u =0
3

P

ug(x) =- 6sin(rq - xsing)(- sinq ) dq :Qsin(rq - Xsing)singdq
ud( x) =- 6cos(rq- xsing)sin*qdq
X*ug+ xu¢+(x2 - nz)u
{g— x’sin’q +x*- n*fcos(ng - xsing) + xsing sin(ng - xsing )} dg
= (‘5{(x2coszq - nz)cos(rq - xsing) +xsing sin(ng - xsinq)} dq
{- (n+xcosq)dsin(ng - xsing )- sin( - xsinq)d(n+xcosq)}

—_— i i i =
= (n+xcosq)Sln(HQ' xsunq)|0 =0

3

5 f(x,y) ¢(D) "z [ab (‘58(5 f(x,y)dygdx:é)g(‘jf(x, y)dxgdy

zZA Db

F(2) :QSQ f(x, y)dygdx G(z)= ngéf (, y)dxgdy

f(x,y)1 C(D) (5 f (x,y)dyl Cla,b]
F(2) Fi(z)= ¢ f(z.y)dy
y1 [a,b] Of (xy)dxi c¥lap]
G{z) :ngﬁ ) f (x)dxgdyz (‘5 f(z,y)dy
Fq{z)=Gqz) F(z)=G(z)+C
z=a F(a)=G(a) C=0



\Zé\b u N e’ u
Q&0 f(x, y)dy dx = Q@Q f(x, y)dxgdy

f(xy)T C(D) ngcsf(x,y)dygdxzégd)f(x,y)dxgdy
1Xb-Xa
0 b | = ¢ d
sas Ok
X- Xt _ e,
= d
In x QX y
=X = 26 el = 36 Al
Q nx QQ Vg™~ Qg >§y
b Xy+11 o dy b+1
_Qy+10dy_Qy+1_ a+l
| f(x)- f(a) )
F)T CP(¥4¥) (n°1)  g()=1 xca O
}fﬂ(a) X=a

g(X)T ™V (-¥,+¥)
f(x)- f(a):@l%f(aﬂ(x. a))dt = f {a+t(x- a))(x- a)ct
f(x)- f(

(x)- f(a)

:Qlf(I(aH(a- a))dt g(X)=(‘§f¢(a+t(X' a))dt
o)1 C™¥ (- ¥, +¥) g(X)T C" V(¥ ,+¥)

1(r) = an(l 2rcosq +r )dq |r|<1

:(5f¢(a+t(x- a))dt x'a

- 2c0sq
£1-d<1 | | S _d
|r| ) (r) q() 1 2rcosq +r? q

I(I(O)z(‘S(-Zcosq)dq:O rto

106 1-r? u 1é ad-r._qol
1§r)=—0 al- 7dg =— 4 - 2arctan——tan—=] =0
1) le 1-2r(:osq+rZHOlq r§ &1+r 2%0

1r)e0 1I(r)e1(0)=0
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§ 2

(2P f(x)

"e>0 $N  n>N  "xIX f.(x)- f(x)|<e
f(x) f.(x)
NA
Q f(xy)dy
A
F(x,A):Qf(x,y)dy A® +¥
F (x,A) O f(xy)dy
1 (¢ ox "e>0 $d>0 ylY O<|ly-y|<d
"x1 X [f(xy)-i (¥)|<e
f(xy) X y®y, ylvY i (%)
X .
flxy)p i (x)
y® +¥
"e>0 $M>0 yiY y>M "xI X 1 (xy)-i (¥)|<e
~ . X .
f(xy) X y®+¥ yiy i (X) f(x,y)yl(;>+¥j (X)
> (-¥+¥)
1 X+ Y yl::@0 |X]
Yl
F7 - = lyle
‘ ‘ +|)4
"e>0 $d=e>0 |f<d = "xI (-¥,+¥) ‘,/x2+y?-|x|‘<e
(¥+¥
J¥+y?: b |X]
y® 0
" 0 ® +¥ , ¥ 0,+¥
2 >0 yo ¥ T [or¥) (0,+¥)
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O<cCE£ x<+¥ 0< 1 £ ! 1 y>0 1 [C;)O
xy+1 cy+1 cy Xy +1ve +¥
X =(0,+¥) 1 '8 0
xy +1
1 . 1.
$e0=§>0 M>0 y>M $x0—;| (0,+¥)
o
- ___eo
xy+1 2
1 y®vy, y®+¥ f(xy) xIX U
"e>0 $d>0 $M>0 Cy® Y 0< <d
s Y& y,| — ye>M
"x1 X [f(xy9- f(xyd|<e
y® vy,
$ (%) lim £ (x,y) =j (x)
ye® vy, "e>0 $d>0 vyl Y
0<|yt- y|<d  "xI X 1f(xyd-j (x)|£e
X .
F(xy) P i ()
2 y®+¥ y® Yy, f(xy) xI X j(x) U
~ x.
VY Y, @+¥  y @y, f (%) P.j ()
y® +¥
f(xy) xIX
$e,>0 "n $y 1Y y,>n $x1 X |f(xn,yn)-j (xn)|3eo

VY vy, ®+¥  f(x,y,) i (¥
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X

ImF(y)=i (v) "yIY  F(y) Py ()
IX(!DrXr:I}L@rQF(x,y) l!@nQIImF(X Y) %Yo
~ X

"VIY Y@y, 2 F(xy) Py (x)

IimF(x,yn):j (Vn)

limy (x)=lim lim F(x,y,) = lim limF(x,y,) = limj (y,)

X® Xg X®Xq M® +¥ n® +¥ x® X

"y TYlimp () =limy (x) limj (y)=limy (x)

lxérlelygg F(x,y)=limlimF(x,y)

Y® Yo X® X

"yviY\{y} F(xy) xI X F(x,y)yl?@)yoj (X)
i (x)T c(X) "[ab]T X J{i@rrylél:(x,y)dx:(‘sj (x)dx

" x,xOT X "yl Y\{ yo}
i (x)-1 ()] =] (x y)+F(xy)- F(%.Y)+F(%.y)-] (%)
Ej (x ||F Y)- FO0 ) #[F (%0 9)-1 (%))

F(Y) P | (x)

y® yp

"e>0 $d>0 |y- yo| <d "x1 X |F(x,y)-j (x)|<e/3
$yf O (yod) [F(x.y9-j (x)|<e/3 |F(%.¥d-i (%) <e/3

yd (x,y) xI X
$dE>0 [x- x|<dl |F(x,yd- F(x, v <e/3
i (x)-i (%)|<e/3+e/3+e/3=e j (x)T C(X)
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j ( X) Riemann

‘C‘SF(x,y)dx- C‘Sj (x)dx‘£(‘5|F(x,y)-j (X)|dx

Fxy) P j (x)

y® yo

"e>0 $d>0 |y-yl<d "xIX |F(x,y)-j (x)|<e/(b- a)
\b \b_ e ‘b _
‘QF(x,y)dx- Q! (x)dx‘<qux—e

lim QbF (x,y)dx= (‘5j (x)dx

y® yo

F(x,y) F(xy) XY X

D ImFEY)=i () 2) R(y) P F(X)

y® yo

i(x) X i 94x)=F (x)

lim F (x,y) =i (x)
"xI X "ytyd Y %1 X
F(x,y9- F(x.y 8
E|F (x.y9- F(x. y8 - F (0, Y9 +F (5. Y9+ |F (%, y9- F (%, y9)|
"e>0 $d,>0 |y¢ y|<d, |y& y)|<d,
F(%.v8- F(%. y8|<e/2
F(x,yd- F(x,y8 x Lagrange $q1 (0,2)
F(x.y9- F(x,y8 - F (%, y§ +F (%, v8|

F (% +a (x- %), ¥9- F, (% +a (x- %), y#) $x- x|

X

F.(xy) P

Y® Yo
|Fx(Xo+q(x- X, y(g- FX(>%+q(X- )%),y@|£e/2|\/|
M X d =min{d,,d,}
|y¢' y0|<d |y¢' yo|<d |F(X,yg-F(X,y@|<e

Fxy) P j (x)

y® yo

F(x) $d,>0 |y& yp|<d, |y& y,|<d,
),
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oly)=l T o CF
LF (%) X=X,
i (-0 (%)

imG(x,y)=F (%) limG(x,y)=

LR (%Y%) x=%

F(%)=limF (%, y)=limlimG(x,y)

Y® Yy y®y, X® X,
. im0 (%)
=il Sley) =i ol

§ 3

F(x) :d f(x y)dy

FuA)=Q f(xy)dy A®+¥ X1 X

+¥ ~
Q f(xy)dy xIX

1 (‘j¥xe'xydy
x>0
F(x,A):QAxe‘Xdezl- e
x3¢c>0 |F(x,A)-]4=e‘XA£e'°A®O (A® +¥)
6¥xe‘xydy [c,+¥)
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x>0 g, =e’* "A>0 $x0=% IF(%.A)-1>e"

Q flxy)dy xiX "e>0 $A>a  ACAG>A

2) Weierstrass M

Welerstrass

"xI X y2®a [f(xy)EM(Y) Q M (y)dy Q f(x y)dy
xI X

3) Abel

1 1) d¥f(x,y)dy xI X

2) g(x.y) xI X y g(x,y)
$M>0 "xI X vy3a lg(x.y)|EM

+¥

\

Q f(x y)g(x y)dy xI X

1)

"e>0 $A>a ACAE> A "xI X

(‘ff (x, y)dy‘ <e/2M

2)

Q. F(x¥) 9% )b =|a 0 A, (x v) v+ 9(x, A 31 (x.y)

£M‘C‘3¢f(x,y)dy

+M‘me(x,y)dy‘

e e
<M *%x—+M x—— =¢e

2M 2M
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4) Dirichlet

A

2 1) $M>0 "xI X A3a Qf(x,y)dy‘EM

2) g(x,y) xI X y g(x.y) b 0

y® +¥
+¥

Q f(xy)alxy)dy  xI X

2) "e>0 $A>a ACAE>A  "xT X
lg(x, Ad|<e/aM  |g(x, A <e/4M

1)
\A@

Ot (x y)g(x,y)dy‘z ‘g(x,Aﬂ)(‘if (%, y)dy+g(x AB G f (x,y) M
£2M |g(x,A(I)| +2M |g(x,A¢9| <e

+¥

Q f(xy)g(xy)dy xI X

1
1) "xI X\{x} f(xy) yi[a+¥)

2) (‘;‘ f(x y)dy xI X
[a.b]

3) x X "b>a f(xy) P g(y)

X®X o, X1 X

N ¥
limQ f(x.y)dy=q a(y)dy

F(xb)= ¢ f (% y)dy

F(xb)® g a(y)dy

AX 4y

2) F(x,b)b§+¥(‘2 f (x, y)dy

lim lim F (x,b) = lim limF (x,b)

X®X g b® +¥ b® +¥ x® %

Iim(‘j¥ f(x,y)dy= (‘; g(y)dy

x® X
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2 f(x,y)T C([a.b] [a,+¥))

F()=Q f(xy)dy [ab] F(X)T Cla,b]
"b3a C; f (x,y)dyl Cl[a,b]
Q f (X, y)dy [I;b] F( X) F(x)T Cla,b]

3
D f(x)i clab] [a¥)  [ad
= f

2 F()=g f(xy)dy [ab]

(‘5 5 f(x, y)dygdx Q §Qf(x y)dx dy

b [ab]
b3a Qf (x,y)dyb@l)b+¥ F(x)
. DAL
lim QSQ (x, y)dyudx Q I|m@Q f(x, y)dy dx = QF( x) dx

§Qf(x y)dxudy Q@Q f(x, y)dyadx

b® +¥
¥ ad e P ED N
0 éQf(x, y)dxady— lim Q @ f(xy) dyudx

R

Q F(x)dx= Q@Q (x,y)dygdx

1) f(xy)1 C([a+¥) [a,+¥))

2) § f(xy)dy [a+¥)

3) d¥(6¥|f(x,y)|dy)dx (‘5¥(§¥f
6¥(6¥f(x,y)dy)dx ) (Q £(x, y)dx)dy

X, Y |dx)dy

"z3a F(z,y):c‘jf(x,y)dx

1) F(zy)l C([a,+¥)’ [a,+¥))
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@  §Fy)d 2 [a+)

|F(z,y)|£6|f(x, y)|dx£d¥|f(x, y)|dx 3)
Weierstrass 6¥ F(z,y)dy zI[a,+¥)
3) 2) z® +¥  "yi[a,b] F(z,y) (‘5¥ f(x y)dx

1
) \+¥ \+¥ B \+¥ \+¥
lim ¢ F(z,y)dy=Q ZI(F!)rE‘F(z,y)dy:Q (Q f(x,y)dx)dy
3

§(Q" Fey)ay)ax=g"(§ Flx.y)oxay= g F(z y)ay

Z® +¥ (‘5¥(6¥f(x,y)dy)dx=(‘5¥((‘5¥f(x,y)dx)dy

f(xy)20

1) f(xy)1 C([a+¥) [a,+¥))
2)  f(xy)d Cla,+¥) @ f(xy)dyl Cla+¥)

3) d¥(6¥f(x y)dy)dx Q (Q f(x, y)d)dy
(‘5¥(6¥f(x y)dy) =Q (d f(x y)d)dy
4
5
1) f(xy).f(xy) xI[ab y2a

f
2) § f(xy)dy
3) 6¥ f.(xy)dy [ab]
F(x)= 6¥ f(xy)dyl CY[ab] Fox)= 6¥ f(x y)dy

+¥

i(x)=q fxy)dy  J (KT Clab] 3

Qi (k=& T (xy)ayik= & 1. (x y) ity

=0 &f (xy)- f(ay)gdy=F(x)- F(a)
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wg. g +¥ COSaX- Cosbx
1) g ——d 2 0 ———d ,b>0
)Q y X ) Q 2 X a,b>
ced-e™ o ol o ax
1) Q TdX‘Q (Qe dy)dx |e |£e
6¥e' Yax  yl [ab] 3
e g O ¥ b b
Q —)( dx = Q(Q e dX)dy:QVZmE
2) ¥ cosax)—(zcosbx dx: gebs'nxydy_dx
S SN G x=0
X
1- cosAy|
o
Q- :
X® +¥ 1 y1 [ab]
X
Dirichlet (j¥s'nxxy dx yl [ab] 3
¥ cosax- cosbx ¥smxy Pp . P
QTdX—ng dx_dy QoW =3 (b- a)
. Fax _ oy X + - aX _ oy bx
1) |(y):@¥e—eydx I(a)=0 I(b):(‘;%dx
1 b b
I e Ydx== I(b)=Q] dy+1 =ln—
(y)=Q e”dx= ; (b)=q!qy)dy+1(a)=In-
2 (y) = Qﬂé cosax)—(zcosxy i
¥ cosax- cosbx
I (a)=0 I(b)=Q Td
¥ sinxy p _ b _p
IG(y)—Q . dx = > I(b)—QIG(y)dy+I(a)—E(b- a)
1) 6¥e""‘xcosbxdx 2) 56""*@&
3) ‘+¥Sinbxdx a>0
X
.~ e .
1) o cosbxdx-m[-acosbx+bS|nbx]+C

13.127



\

+¥ _ax
Q € *coshxdx =

a’+b?
2) |(b): \+¥e-axSiandX
@ X
_ M _ a
1(0)=0 Itb)=¢) e cosbxdx-—aZerz
b oa _ b
I(b):Qa2+b2db+l(O)—arctanE
3 a3 o0 ‘+¥Smbxdx e™£l
X
Abd I(b) a30
J¥Snbx .
. dx:l!@rgl(b):%sgnb
J:(‘;e'xzdx
XZOn 2R den
gt [0,A] e C[0,A] §+75
5 N
d+X2 ®@e*  Din [0,A]
8 nNg
X0 1 wE X6
osgle s fne Ogthp & n

¥ 26" o X206 R

imQ ?F; x=Q L!Jl‘?*?; dx=Q € dx
o X_Z(?:n o NN . e, _ p(2n-3)!!
Q §+ n dx—\/nQ (1+t ) dt—«/ﬁ(jcos ydy—«/n—z(zn_ 2)”

Wallis o2 1
¥ J2n+1(2n- )11 N2

NP

dx =2

Q e X 5
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ol

d® 0 A® +¥ -%:-2J2
‘+¥ -XZ
Q € " cosb xdx

I(b):(‘;e'xz cos2b xdx
1qb)=-Q 2x¢“sindxdx bl (-¥,+¥)

14b) = d¥ sin2b xde * = - 6¥e'xz x2b cos2bxdx =- 2b1 (b)

I(b)=Ce® 1(0)= A e*d :ﬂ
(b) (0)=q"e"x=21
I(b):ﬁe'bz 6¥6X20052bxdx:£e"’2
2 2
*¥ cosbhx &¥ Xsinb x
Laplace |(b): XZTade \](b):Q Tazdx a >O
AL 2 X -
d>0 Qsmbxdx‘Ea vaveliL] [d,+¥)
L ¥ Xsinb x A
Dirichlet J(b):Q de bl [d,+¥)
H¥XSinbx

5 1b)=-f ———dx
(b) Q o+’
F¥ XSinb x *¥sinbx ¥ sinbx
dx=a? dx

P __x¥XSnbX _SInbXx _
|G(b)+2 Q x2+a2dx+Q X @ X(x2+a2)
*¥ cosbx -
. ¢
é pu__ ,¥cosbx )
glG(b)JrEEI —a2Q x2+a2dx 1&b)=a’l(b)
I(b)=Cg” +Ce™
&¥ o dx
1(b)|£Q X2+a2=% lim 1(b) =0 1(b)
C,=0 I(b)=Ce®
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. o> dx _p ~p
JJI@{)I‘Ql(b)—Q x2+a2_z Cz_z
p ab
[(b)=—
(b)=Le
+¥xsmbx
b>0 J(b)= -14b
>0 3(b)= g XS =< 1qb) =-
J(b):-%e'absgnb
8 4 Gamma Beta
b G
1 Gamma
1 A et it X
G(x)= ¢ e'tdt
G Gamma Euler

G(x) x>0

x>0 e 't t=0
Q -—
d>0 "xI[d+¥) t1[0] et E£t%"
1 ~
Qe'tidt  xi[d,+¥)

N (0,+¥)

O e'tidt T [d+¥) G(x)1 C(0,+¥)

2 G(x)1 c¥(0,+¥) G (x)=¢ e't**(Int)"ct

A>a>0 "xi [aA

ti [04 |et*(Int)" £%*(Int)" Ot (Int)" et
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th [1+¥) [et(Int)| £t~ Ottt
Welerstrass Q et (Int)"dt [a Al
G(x)T c¥ (0, +¥) G (x)=¢ et*(Int)"ct

1 Schwartz
f(x),9(x)1 Cla,b] f(x),9(x )30 I, m>0 | +m=1

Ser (x)d e § (o] S a()ex

u,v>0 u'v"El u+nv

i (x)=-Inx, j¥x)= —2 i (x) x>0

j (lu+rm)£1j (u)+m ( ) - In(lu+mv) £-1 Inu- minv
uvTElu+nv

1) G(x)>0 "xi (0,+¥) G(1) =1
2) G(x+1)=xG(x) "xI (0,+¥)
3) InG(x) (0,+¥)

1)

2)  G(x+1)= (‘; e't’dt =- (‘;t’(de't = (‘; e 'xt*'dt = xG(x)

3 1 "b>a>0 I,m>0 | +m=1 x,y>0
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| m
(‘Se"t' w1 £ Qbe"t“dt) (Qbe'tty'ldt)

a® 0',b® +¥ G(1 x+my) £ 5§ &5V’

InG(l x+my) £1 InG(x) +minJ y)
G(x) (0,+¥)

"nTN G(n+1)=n

3 G G

4

Bohr & Mollerup (0,+¥) f (x)
1) f(x)>0 "xi (0,+¥) f(1)=1
2) f(x+1)=xf(x) "xI (0,+¥)
3) Inf(x) (0+¥)
f (x) =G(x)

j (x)=Inf(x)
1) 2) f(n+1)=nt j (n+1)=Inn!
f (x+n+1) =(x+n)(x+n-1)--(x+1) xxf ()
j (x+n+1)=Ing x+n)(x+n-1)-(x+1) xg+j (x)

3) j(x) (0,+¥) "xT (0]
j (n+1)-] (n)£j (x+n+1)-j (n+1) gl (n+2)-j (n+1)
(n+1)-n (x+n+1)- (n+1) (n+2)- (n+1)

j (x+n+1)-j (n+1)

Inn£ £In(n+1)

xInn+Innl £ (x+n+1) £xIn(n+1) +Inn!

j (x+n+1)
nn! : (n+1)"n!
N ey o B Ry o)
0£j (x)-In x(x+1r)]-x-n-!(x+n) £x|n§ﬁ+%g£|n§f+%g
n—"" B ()

X(X+1)---(X+ n) n®¥

2 (0.4+¥) ()

1




2) 3 f(x)

3 G(X) 1) 2 3 "x>0 f(x)° G(x)

W iy n*n!
x>0 G{x) _Irg@rgx(x+1)--~(x+ n)

X

i L nn!

4 X ((),1] G(X)—lrggx(x_,_l)...(x+n)
" L n*n!

x>0 g(x) =lim x(x+12)--+(x+n)
- nx+1|,,|!

1)=1I

g(X+ ) n|®r9(x+1)(X+2)"'(X+n+1)
_ n*n! n
= xlim g

¥ X(X+1)(x+2)--(x+n) x+n+l_ xg(x)

X

X (x D) (x+1)

"x>0  g(x)=G(x)  G(x)=lim

n®

A

2..
2 xI (01 sinpx:prEﬁ-X—zg
e Mg
1) a cosat [-p,p] Fourier
_sinap él ¢ n 2a cosnt U
cosat = —+q (-1) =—-/
gralty) g
1 § 2a
2 t= cotap =—+
: Poopotap =y ‘nE}laz-n2
- 52X
xIl (0,1 tpX=—+
(1) peotpx=2+a F0
é % x* ol g x* 6
3) y(x)=|n§)Og?L-—2_u:Inp +é|ng[ —+
g e Ng moe Ng
_ 3 2x
y (0)=0 y {x)=a ——5=pcotpx- =
n=1 X - N
snp x _ *a?[ X 6
y (x)=1 sinpx=pxQ ¢l- —+
X me Ng

13.133



13.134

M i}
"xI R sinpx:prg[- x_zg
me Ng
X
xI R h(x)—prg?[- ﬁzg
16 Mg
1) h(0)=h(1)=0
2)  h(-x)=-h(x xI R
4@ (x+1)'0 N+l+x A& x20
)Odl- = - S
3) p(x+ )gg " L N- x 28 g
h(x+1)=-h(x) "xI R
xI R h(x)=sinpx
__p
5 I (0,1 G x)Gl1 =
O
4
XI . nx
G(x) = lim o =1lim
©¥ x(x+1)---(x+n) n®¥x(1+x)-~a?[+§2
&€ ng
ol =l "
1 .31 = +1
ST T Ll
xI (0,9)
G(x)G(1- x) =lim n
ne¥ 2 X2 0 X° 0
R
O 52
= 7]
&l o
1 Gr=Z=i=
€25 3
cEO_ &0/ 10__ P _, & 5
5 825 & 25 sin=p €25



F e
2 Q e dX—T
alo_ v 31 o w o +p
Ge=o=() €'t2 dt = 2¢) e*dt=+/ A € dx=
€25 Q P Q >

& JLo_(2n- 1)”\/5

3 Goh+=0=
& 25 2

@ 16_s 1w 306 1 ado_ (2n- 1)1
3 Ggh+2==cn- = =G J
25 & 2% 252 825 2

221 ® 106

TpG( X)G 8x+ ==

6 Legendre "x>0 G(2x) =

29
2t _axo ae<+1o

«/_ GSZQJGS :

"x>0 G

f(x) = 2t 20 aex+1o

«/_822182@

) f(x)>0 f()—j_ e

2 f(x+1)= 2" X 10 8x+20_ 2" X 10X a6 _ xf ()

82z82gf82z282g

3  Inf( )=(x 1)In2+ Inp +InGg— Otin ng—lo

G(l) 1

(0,+¥)
Inf(x) (0,+¥)
4 "x>0 f(x)=G(x)
2 Beta
2 X, y QUi(L-t) Beta
Euler b(x,y)= ét“(l t)" ot
G b

13.135



b(x,y) "x,y>0
1) b(X,y)>O b(ly):

< |k

2) b(X+1,y)=XTXyb(x,y)

3) "y>0 Inb(xy) X

1)
2)
b(x+1,y)=5tX(1.t)mdt Xiy 1§L9d(1 t)x+y
1 g Xby %t 0 1
—'x+y (1- t) 81 5 (1-t)2
- xryétx_l(l' t)y-ldt :XTyb(X,Y)
3 "1, >0 1+ =1 %% >0 y>0 1
b (1% +1,%,y)= Q" (1- t)" ot
:qu1 1(1 t)y 1u qxz ( )y 13' ot
E6b (% V)i & (% V)8’
Inb(x,y) X
v o e ergy
20 1) =RRgE (x4
f(x)=6(x)
> _b(Ly)G(1+y) _G(1+y)
1) f(x)>0 f (1) &) e
2) b G
+q) 2 2 (x*LY)G(x+1+y)
e e
_mb (%, y){x+y)G(x+y) ()

G(y)

13.136




3  "y>0 Inb(xy) InG(x+y) X
InG(y) x Inf(x) x

sinpx
3) x>0 b(xxX)=5ms ge; X
ﬂ

! 4 e Ut 1 du » U'du
b(x,y)=Qt(1- 1) dt = ¢ =&
(X y) Q ( ) Q (1+u)x—l (1+u)y—l (1+U)2 Q (1+u)x+y
)G g U v

ale du
‘9(1+u)” Q) vy € v Q)™
p
(j_sm xc0s” xdx a,b>-1
x = arcsin/t
Ea b da s 1 dt 1., b
dx=t?(1- t)? ———F==0t 2 (1-t)* dt
@ sin” xcos’ xdx Q( ) —> 750 (1- t)
Gaa-+1QGab-+1Q
_l,@+lb+16_ 178 2 56 2 5
282" 25 2 g@th 6
& o
p
G (tanx)" dx la|<1
: 1, a+ll-a6_  p
t d d"—b ,
(j(anx) X = stm XCos ® xdx TR -
2

13.137




P P
4 6s.ina xdx 6005‘a xadx a>-1

e
2 dsln xdx = (jcos:al xdx-lbaa 119-%’
2 2 2g ZGa@ +12
a
1 D R" E=D"[a,b], f(xt)T C(E)
[(x) = Q f (x,t)dt
1(x)T C(D)
2 f(x) [ab] i (x,y)T c®(D) D =[a,b]” (@,b)

a(y) = T (%) (x, y)ox
g(y)T C¥(@,b)
0" =10 S (=121
Ty"

3
1 2
1 | \ 2 + 2 2 | \“ 2
im0+ vy im, §”comacy
. (I dx
3 LII’@T]OQ 1+ x%+a?
4 F(x)

1 F(0=q ey

=g S

3 F(x)= QEQZ f(t,s)dsgdt

5 F(y)=c‘iln x? + y? dx

F¢0) = dﬂ%lndxz +y?|  dx
y=0

dy

6
il Y g gl KoY
GG %05y
]
1 F=g S dy

13.138



10

H¥ant?
FxN=qQ ==

_ 2 odt
F(X) _Q|Int|x

dt

¥ COSXY
1+y?

+¥

Q x*e*dx (afa £b)

dy (x2a>0)

+¥ o COSX

o —Zdx (p>0a30)

('D

¥ 9n

1+X
¥ sn X

X
(‘f f(x,y)dy xI X

dx (p3 0)

O,

e*dx (@3 0)

Q+¥ (x,y)dy <7 X X X, A>0
im & £ (x, y)dy = 1(A)

XX, x® xo

A>0 |I(A) g foeydy xi X

Y ae ™ dx (0£a <+¥)

O

(‘)i dn 1dx (0O<n<2
X X

¥eX(1+y)Sn ydy (O<X<+¥)

¥ 2
(\)+¥ e () gy 1° a<a<b 2 -¥<ac<+¥

(\Jlxp'llnzxdx 1 p*p 2 p>0

Q vdnax 1° al [ab],0l [ab] 2 al [ab],0l [ab]
X
Q SNax i« 0fa £l
x- a
FO=Q ———dy, xT (-¥,+¥)
Q X2+ 2
. sny A
F(x) = pﬁdy, xI (0,2)
QVp- vy

13.139



3 F(x):d¥ Y _dy, x>3

1+y”

14 |f ]

F(u) = f (X) cosuxdx
- ¥ <Uu<+¥
15
¥Enx o p o e Alp
Q ~ dx—2, Q © dx = 5
1 ¥ snaxdx 2 »9n yc:osyxOly
X p y
+ in® + 2
3 Q¥322de 4 Q¥x2e'axdx (a>0)
¥ - (ax?+bx+c) ¥ ’(X2+:_z)d
5 Q,¢ dx (a>0) 6 o, ¢ X (a>0)
16
+¥ dx
1 I. (= ———— n a>0
n( ) Q (X2+a2)n+l
X o bx
2 (‘;idx @ >0, b >0)
X
+¥e—ax_ - b x ]
3 Q snmxdx (@ >0,b >0)
4 Q+¥xe'”zs'n bxdx (a >0)
16
+¥e—ax_ - b x ]
1 Q snmxdx (@ >0,b >0)
~red g bx’
2 Q —dx (@a>0,b>0)
17
1 g ex"dx a>0 n
2 dxa'lln”xdx a>0 n
18
1 ¥ (xa?)
N =Q e at
¥ cosb x ¥ X9n b x
1 Q mdx a>0 2 Q mdx a>0
19

1 d’ln(l- 2acos X+ a®)dx

13.140



20

21

A In(a® - dn? x)dx  (a>1)

+¥a§inax('_jzdx
& X g

+¥ arctga

Q¥4gzxdx @
X1+ x%)

“¥dgnax

/

3 0)

Jo (X)dx

Jo(X) =

4 anzx/az-xzdx (a>0)

6 Q sn® xcos* xdx

oo

¥ o y2
8 Q x"e Xdx n

13.141



